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PART A: Veeabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes cach
sentence. Then mark the correct choice on your answer sheet.

1-  During the ----—----—-- between arriving at the airport and boarding the plane, we’ll probably
do a bhit of window shopping.
1) interval 2)inlervention 3) imbalunce 4} inconsisteney

2-  That ugly vacant lot ---—-—-- from the heauty of the neighborhood.
1) depletes 2) derives 3) detracts 4) deviates

3- At first, the Savings Mart didn’t do well, but after it lowered its prices and increased its
advertising, the store began to ----—--—-- ]

1) prosper 2) subside 3) arise 4) strive

4-  The movement of clounds may seem to be --—-—-——, hut scientists know that there is a
pattern to how they move,
I} compatible 2) specific 3) transient 4) random

5  Since my math c¢lass was very difficult for me, T consider the B that T got for the course
to be a great ————ee—--,
1) illusion 2) triumph 3) obligation 4} disapproval

6-  The hardware store sells —-----—-- stones made of plastic that you can open and hide a house
key in. Then vou can hide the key by leaving the “stone” somewhere near your door.
1) confidential 2) artificial 3) superiicial 4} metaphorical

7-  Rhoda’s budget is so tight that she felt it would be --—-----—- to buy herself even a ten-
dollar pair of earrings.
1) plausible 2)1langiblc 3) sullicient 4 extravagant

8-  When the climbers reached the peak of the tallest mountain in the world, they felt it was
a ---—--—-— pecasion and were filled with pride.
1) momentary 2) moribund 3) meticulous 4y momentous

9-  The ramification of committing a murder is to serve a prison sentence even if you
---—--——-- your actiens.
1) implement 2) renew 3) regret 4} exceed

1~ It iz often an attorney’s job to construe the meaning of a contract and then share that
------——-- with a clicnt and, if nceded, with a judge or jury.
1} justification 2) interpretation 3) transformation 4} condemnation
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PART B: Cloze Test
Dircetions: Read the following passage and decide which choice (1), (2), (3), or (4) best fifs

each space, Then mark the correct choice on your answer sheet.

For 20 years, children have been treated (11) ----——---- all sorts of programs on
television which are supposed to help them hecome better at skills such as reading and
math. ‘These programs have presented (12) ---------- such as counting and recognition
ol letters as nothing but fun, (13) -—----—-—-- by such things as rainbows and jumping
[rogs. (14} -=mmanemm- no unprovemnent in children's abilitics in literacy and numcracy
(15) ———mmmmm- . These [un ways ol teaching such skills don’t seem (o work.

11- 1)in 2) for 3)to 4} on

12- 1) the leaming of skills 2) skills to leamn
3) the skills of learning 4) learning of skills in

13- 1) arc accompanicd 2) lo accompany
3) being accompanied 4) to be accompanied

14- 1) In spite of 2) But 3) Although 4y Whereas

15- 1) would observe 2) it observes
3) has been observed 4) to be observed

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4). Then mark the correct choiee on your answer sheef,

PASSAGKE 1:

land survevors and geospatial professionals use phologrammetry and LIiDAR (light
detection and ranging) in a variely ol visual mapping and land survey documentation
projects. Both technologies can often produce similar output. though they are really
quite different in the methodologies that they employv. For any land surveyor or
geomatics practitioner, understanding the differences between the two technologies
what they are and when to use them  will improve accuracy, efficiency and ensure the
project achicves the desired resulis.

When tasked with documenting. mapping and/or surveving objects in a visual
medium, both photogrammetry and LiDAR can be excellent choices. The key is to
understand the benefits and challenges of both technologies so that the hest technical
approach can be chosen for any given project or situation,

Photogrammetry 1s the science of using photographs to make rcliable measurcments
between objects. Using a series of photogrammetric photos, users can recreate
geometric representations of the photographed objects.

Aerial photography s one of the most common mediums to obtain
photogrammetric images. However, photogrammetry can also apply to interior
structures, In photogrammetry applicaiions, overlapping photos, (rom at least two or
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16-

17-

18-

19-

20-

more vantage points, help to establish depth and perspective. Data 15 then converted to
a point or a set of data points.

LiDDAR uses lasers to accomplish many of the same tasks as photogrammetry, and
the iechnology behind 1ADAR in similar lo how radar uses radio waves. In LiDAR
applications, rapid pulscs of laser light are [ired at a surlace. in some cascs al a rate ol
150,000 pulses per sccond. A LIDAR sensor measures the amount ol time il takes lor
each pulse to bounce back tfrom the earth's surface to the LIDAR instrument.

‘This process is repeated in rapid succession until the LIDAR captures a map of the
land area it 1s measuring that meets the degree of detail that the survevor requires.
A point cloud is then generated.

The author of this passage wants t0 -——---a--- :

1) describe the tfundamentals ot surveving

2) show the difference between photogrammetry and LiDAR

3) explain various visual mappings and land survey projects

4) clarify the bencfits and challenges of using [LiDAR and photogrammetry
Photogrammertry and LiDAR, according to the passage, --—---—--—-.

1) generate the saine outputs

2) employ similar methodologies

3) make the projects achieve the desired results

4) specily approximate dislance between two abjects

All of the following, based on information given in this passage, are true about LiDAR
EXCEPT - 2

1) it is a remote sensing method

2) its technology is the same as that of radar

3) it measures the pulse of light by a sensor

4) it uses light in the lform ol a pulsed laser to determine ranges (o the carth
Aerial photogrammetry ---------- 5

1) is one kind of various methods used by land survevors

2) 1s the most common medium to obtain photogrammetric images

3} converts the data to a point or a set of data points

4) helps surveyors to acquire the depth and perspective

The word "meets" in paragraph ¢ can be substituted by --—--—-—-,
1) increases 2) happens 3) gathers 4) matches
PASSAGE 2.

Vector 1s a data structure, used to store spatial data. Vector data is comprised of lines
or arcs, defined by beginning and end points. which meet at nodes. The locations of
these nodes and the topological structure are usually stored explicitly. Features are
defined by their boundaries only and curved lines are represented as a series of
conneeling arcs, Veclor storage involves the storage ol explicil topology, which raises
overheads, however it only stores these points which define a [cature and all space
outside these [eatures is 'mon-cxisteni'. A veelor based GIS 1s delined by the veclorial
representation of its geographic data. According with the characteristics of this data
model, geographic objects are explicitly represented and. within the spatial
characteristics, the thematic aspects are associated. 'There are different ways of

moshaveranetahsili.ir



moshavg}ggnetahsili.ir

8 Ao AYEY) 05 o (2518 i i

21-

22-

23-

24-

organizing this double data base {spatial and thematic). Usually. vectorial systems are
composed of two components: the one that manages spatial data and the one that
manages thematic data. This is the named hybrid organization system, as it links a
relational data base for the atiributes with a lopological one Tor the spatial data. A key
clement in these Kinds ol svstems is the identificr of every objeel. This identificr is
unique and dilferent for cach objecl and allows the svsiem Lo connect both dala bascs.
In the vector based model. geospatial data is represented in the form of co-ordinates. In
vector data, the basic units of spatial information are points, lines (ares) and polygons.
Each of these units is composed simply as a series of one or more coordinate points,
for example, a ling is a collection of related points, and a polygon is a collection of
related lines,

This passage is mainly about -——-—-—,

1) vector based spatial databases

2) vector data versus raster data

3) how the objccts arc stored in a G1S

4y the relationship between the stored objeets in 4 vector GIS
The vector data are stored by —--—-——- .

1) lines or arcs

2) coordinates of the nodes

3) the locations of the nodes and the wopological struciure

4) the points including nodes and beginning and end points
Thematic data, according to the passage, means --------—- :

1) attributes

2) identifier of every object

3) hybrid organization system

4) topological structure usually slored in a spatial database
What do you think about the meaning of this sentence “all space outside these features is
'non- existent'?

1) Area in vector data 15 not important.

2) Vector data do not store the thematic data.

3) Vector storage involves the storage of explicit topology.
4) Veelor data do not usc a space lilling model for daia storage.
Which one is NO'T true ahout the key element?

1) It can only be a number.

2} Tt is unique for each database.

3) A key clement is theddentilier of the objects.

43 11 is used 1o conneet thematie data with spatial data.

PASSAGE 3:

Recently, the positioning and obscrvation ol the carth have been possible by uging
satcllites. Surveying can therelore be considered as one of the most wraditional as well
as culling-cdge scicnees and echnologics.

The principal art of surveving is the measurement of locations of points, i.e.
positioning. I'he technology of positicning 1s scientifically based on geodesy. (Geodesy
13 the science that treats of investigations of the form of the Earth's surface and the
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28-

29-

relative locations of points on or near the Earth. It 1s well known that the Earth is an
oblate spheroid, the length of its pelar axis being somewhat less than that of its
equatorial axis. T'o determine the positions of points, geodesists have traditionally
approximated the form ol the Farth with an ¢llipsoid ol revolution, which 1s called
relerence cllipsoid. Geodelic positions of points are ¢stablished in terms ol longitude
and latitude based on the adopied relerence cllipsoid. Thus, the (vpe ol surveving
which takes into account the shape of the Earth is referred to as geodetic surveving.

On the other hand, the area where we carry out surveying for an actual task. e.g.,
determination of land boundaries and civil engineering work. 15 often very small
portion of the Farth. In such a case, the spheroidal shape of the Farth may be neglected
in the arca concerned, and the surface of the Narth may be reasonably assumed to be a
planc. The tvpe of surveying based on these assumpltions is delined as plane surveying.
The positien of a point is given by rectangular coordinates that are defined in the fixed
plane coordinate system.

The best title for this passage is ---—--—--—,

1) Determining the location of poinisy

2) Geodctic surveying and planc surveving

3) Surveying as an art and sclence

4) Positioning technology in the surveying

The word cutting-edge in paragraph 1 can be substituted by ---—-—--—,

1) pure 2) experimental 3) exact 4) advanced
It is stated in the passage that surveying ---—-----,

1) is rclated o the planc coordinates

2) is done on a small part of the Earth

3) carries out on a plane portion of the Earth

4} as an actual task calenlates the spheroidal shapes

Reference ellipsoid is used to -—------—- ’

1) determine the location of Carih's axes  2) describe the shape ol the Earih
3) locate the points on the Earth 4) measure the Earth's surface
According fo this passage, ------—--—-,

1) geodetic positions are established in terms of latitude. longitude and height
2) in practical works, we can always ignore the curvature of the Harth

3) satellites made possible the posilioning ol points

4) plane surveving is the most popular kind of surveving
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